
Physics 210 Formula Sheet

Y = F / A
ΔL / Lo

S = F / A
Δx / h

B = -  F / A
ΔV / Vo

ρ = mV
P = dF

dA
Pb = Pt + ρ g h

B = ρf Vd g
A1 v1 = A2 v2

P1 + ρ v1 2

2  + ρ g y1 = P2 + ρ v2 2

2  + ρ g y2

v = dx
dt    (phase velocity)

v = T
µ

y = A sin ( k x - ω t - φ )
v = λ f
k ≡ 2π

λ
ω ≡ 2π f

 ∂
 2 y
∂x 2

 = 1
v2

 ∂
 2 y
∂t 2

v = B
ρ

ΔP = Pm sin ( k x - ω t )
Pm = ρ v ω sm

I = power
area

β = 10 log ( I
Io

)

Io = 1 X 10 - 12 w
m 2

fo = fs (
v ± vo
v ± vs

)

y = 2 Ao sin ( k x ) cos ( ω t )
fb =  f1 - f2 

n = cv
n1 sin θ1 = n2 sin θ2

m = -  i
o = hi

ho
1
o + 1i  = 1f

f = R2
n1
o  + n2

i  = n2 - n1
R

1
f  = ( n - 1 )  1

R1
 - 1

R2
d sin θ = m λ

d sin θ =  m + 12  λ

Iav = Io cos 2  π d sin θ
λ

2 t =  m + 12  λn

2 t = m λn
λn = λn

a sin θ = m λ

Iθ = Io  
sin  π a sin θ 

λ
π a sin θ

λ

 2

θm = 1.22 λD
R ≡ λ

Δ λ  = N m
I2 = I1 cos 2θ


